51 Antiderivatives:

Up to now, we've discussed rules to find f' given a function f. <u>TODAY</u>: We want to reverse the process ("antiderivation"), meaning "Given  $f_{(x)}$ , can we find F(x) with  $F' = \frac{dF}{dx} = f(x)$ ?"

Examples: (i) 
$$\frac{dF}{dx} = 3x^2$$
 ms  $F = x^3$ ,  $x^3 + 1$ , ....  
(i)  $\frac{dF}{dx} = \cos x$  ms  $F = \sin(x)$ ,  $\sin(x) - \frac{\pi}{4}r$ , ....

<u>Guiding question</u>: (an we recore T from f? Almost! (up to an additive instait) <u>Papprition</u> If  $F(x) \neq G_{(x)}$  are two bunctions with the same derivative  $(=F(x_{2}) \land a)$  in ternal (q, b) with q < b, then F(x) - G(x) is constant in (q, b)Q Why? A theorem Value Theorem. Pick a', b' with a < a' < b' < b  $fince H = T - G_{(x)}$  is differentiable in (q, b)  $f(b', f_{(b')})$  be lenser. H is contenuous in [a', b'] f(a', f(a')) a a' b' bBy MVT, we can find c in (a', b') with  $H'_{cc} = slope of b sec$ But  $H'_{(c)} = 0$  so  $L_{sec}$  is a horizontal line. This means H(a') = H(b') for any pair a', b' in (q, b).

<u>Include</u>: H = F-G is a constant function.

<u>Consequence</u>: Antiderivatives are not unique, bet they all differ by constants. <u>Notation</u>  $T(x) + C = \int f(x) dx$  We call it the antiderivative  $T(x) + C = \int f(x) dx$  We call it the antiderivative T indefinite integral of f.

Remark: Every france for decidentines has an analog for indifinite  
integrals. This is based in "Decidentines has an analog for indifinite  
integrals. This is based in "Decidential votation:  
Fix u, v function of irreveable x  
(1) Source Rule: 
$$y = u^n$$
 and  $dy = nu^{n-1} du$   
(2) Product Rule:  $y = u^n$  and  $dy = d(uv) = u dv + v du$   
[Q: Why? A:  $\frac{dy}{dx} = u \frac{dv}{dx} + v \frac{du}{dx}$  a multiply both when by  $dx$ ]  
(3) Quotient Rule:  $y = \frac{u}{v}$  and  $dy = \frac{d(uv)}{v^2} = \frac{v du - u dv}{v^2}$   
(4) Chain Rule:  $y = f(u)$   $u = g(x)$  and  $dy = \frac{f'(u) du}{v^2}$   
(5) Chain Rule:  $\frac{dx}{dx} = \frac{v(y)}{v} + \frac{v(y)}{dx}$ .  
(5) Source Rule:  $\frac{dx}{dx} = \frac{1}{v} \frac{m+1}{m+1} + C$  as long as  $m \neq -1$   
(5) Trigmonetric Rules:  
Source Rule:  $\int (ax dx) = seux + C$   
(6) Trigmonetric Rules:  
Source  $x dx = ten x + C$   $\int cosc^2(x) dx = -cosc(x) + C$   
(7) Trigmonetric Rules:  
Source  $x dx = sec x + C$   $\int cosc^2(x) dx = -cosc(x) + C$   
(8) Hulteplication by constants a additionts.  
(9) Thulteplication by constants a additionts.

we get antiducivatives for polynomials (in functional proven of x without)  

$$\frac{Examples}{2} \cdot \int 3x^{2} + 4x + 2 dx = 3 \int x^{2} dx + 4 \int x dx + 2 \int 1 dx$$

$$= 3 \left( \frac{x^{2}}{2} + C_{1} \right) + 4 \left( \frac{x^{2}}{2} + C_{2} \right) + 2 \left( x + C_{3} \right)$$

$$= x^{3} + 2x^{2} + 2x + C \quad C \quad casteat.$$

$$\int x^{\frac{1}{2}} (x + 2)^{2} dx = \int x^{\frac{1}{2}} (x^{2} + 4x + 4) dx = \int x^{\frac{1}{2}} + 4x^{\frac{1}{2}} + 4x^{\frac{1}{2}} dx$$

$$= \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + 4 \frac{x^{\frac{1}{2}}}{\frac{1}{2}} + C = \frac{3}{10} x^{\frac{1}{2}} + \frac{28}{3} x^{\frac{1}{2}} + 3x^{\frac{1}{2}} + 9x^{\frac{1}{2}} + 2x^{\frac{1}{2}} +$$

Notes: . Integration involves 2 substitutions

. We can check our answer is correct using the Chain Rule

L199

. The Rule is straight frurand if we view the differentiation step as computing a differential.

. Finding the expression u = u(x) can be tricky! (Practice helps!) We must be able to write the integrand  $f(x) \ge x$  as  $h(u) \ge u$ , making sur NO x remains!

$$\underbrace{\mathsf{EXAMPLES}_{1}}_{\mathsf{C}} (1) \int \omega^{\mathsf{S}} \times \sin x \, dX = \int u^{\mathsf{S}} (-du) = -\frac{u^{\mathsf{G}}}{\mathsf{G}} + \mathsf{C} = -\frac{\cos^{\mathsf{G}} x}{\mathsf{G}} + \mathsf{C}$$

$$u = \cos x$$

$$du = -\sin x \, dx$$

$$du = -\sin x \, dx$$

$$du = -\frac{\sin(\mathsf{S} x)}{\mathsf{G}} + \mathsf{C}$$

$$u = 5x$$

$$du = -5 \text{ A}x$$

(3) 
$$\int \frac{dx}{(x-7)^7} = \int \frac{du}{u^7} = \int u^{-7} du = \frac{u^{-6}}{-6} + C = \frac{-1}{6} \frac{1}{(x-7)^6} + C$$
  
 $u = x-7$   
 $du = dx$ 

. Certain simple O. D.E.S ( ordinary differential equations) can be solved via the method of separation of variables (analog of implicit differentiation)

Example 
$$y' = -x^2y^2$$
  
White  $\frac{dy}{dx} = -x^2y^2$   $\pi$   $dy = -x^2y^2dx$   
STEP 1: We group different middles in different sides of the equation ("superation  
 $-\frac{dy}{y^2} = x^2dx$   
STEP 2: Integrate both sides a put the constant C ruly in the x-side  
 $\frac{dy}{dy^2} = \int x^2dx = \frac{x^3}{3} + C$  C = cubitness constant

General Solution: 
$$y = \frac{1}{\frac{x^3}{3} + C}$$

Note: We get a 1-parameter family of solutions (C=parameter) Finding a particular solution means to choose a value for C. Ofter, we do this by specifying <u>initial enditions</u> (geos, geos, g"10),...., etc.), typically as many as the number of parameters.



Note: Separation of variables new works for ving special Obes, namely if  
equation may involves 
$$y', y, x$$
 ( $1^{st}$  order)  
need to split the equation into  $g_{150} dy = f_{150} dx$   
Non-example:  $y' = \frac{x+y}{x-y}$   
Example: Solve  $\begin{cases} y' = zy^2 (4x^3 + 4x^{-3}) \\ y_{100} = 1 \end{cases}$  (initial condition)  
Solution:  $\frac{dy}{y^2} = (8x^3 + 8x^{-5}) dx$  so integration gives:  
 $-\frac{1}{y} = \int \frac{dy}{y^2} = \int (8x^3 + 8x^{-5}) dx = \frac{8}{4}x^4 + \frac{8}{-2}x^{-2} + C$   
 $= 2x^4 - 4x^{-2} + C$   
So  $y_{150} = \frac{1}{-2x^4 + 4x^{-2} + C}$  (General Solution)  
Praticular Solution  $1 = y_{100} = -\frac{1}{C}$  so  $C = 1$   
Solution is  $\frac{y_{15}}{y_{15}} = -\frac{1}{-2x^4 + 4x^{-2} + 1}$